H £ 0l & AF & S

20233 = =0llah LB J1= 0l LA Xt

Al A

SA IO 2
M J|SHS SMAE
Gl mMARERN o AF (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JIZ 0l X 2t 40,601,714 75,522,995 A34,921,281
= 18,911,525
Jl 2,547,890
= 4,658,125
Al 14,384,174
= 100,000
l=dsls sM48E 4,3%,410 1,418,085 2,978,325
) 1,611,150
Al 2,685,260
= 100,000
SMATEN o A 70,320 71,040 AT20
SHLY X 70,320 71,040 AT20
202 04l 34,320 35,040 AT20
01 =LHAHI 4,320 5,040 AT20
OJISm™ ALEF oY)
360,000 * 12 4,320
04 =Xl=todbl 30,000 30,000 0
OgRsEy el
30,000,000 *14{ 30,000
203 HR=H] 36,000 36,000
03 A=A R =AH] 36,000 36,000
OABZRA2EMY)
36,000,000 * 14 36,000
JI=HSUS 4,151,443 1,209,380 2,942,063
Il 1,611,150
Al 2,440,293
= 100,000
JI=Hs S 805,143 921,220 A116,077
201 er2 3| 16,000 11,000 5,000
01 AtR2telHl 16,000 11,000 5,000
OsMME 9 J|SH3INS 222 HXR
6,000,000 *14] 6,000
OBAHOIEN E2= M=
3,000,000& *14] 3,000
OJIz8sis g5 228 ¢
2,000,000 *14] 2,000
OJ|=dziils s S 2U2H?E
dEIIES 5,000,000 14 5,000
207 ARl 50,000 50,000
01 H7ESHI 50,000 50,000
O24tA His2el 248 30,000
Po0z2d 240tA HHESME 2 HiEd2
cl E4 20,000,000& » 14 20,000
D2atA BHEAIEAEN HdY R 28
s =4 10,000,000 * 14 10,000




SA IO 2
H: J|IRHIUES =4M4E
&2l JIFHIHS (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O24&0tA HiEg 85 20,000
>ERAJIA BENUT AN L B
SFAE S EG
20,000,000 * 14 20,000
307 @I2t0| & 719,143 636,820 82,323
02 QB AANEE R 30,000 30,000 0
OJIZ8sHE neE2d 2L (IR0t
Xt 30,000,000 *14! 30,000
05 2ItRIE =2 689, 143 606,820 82,323
OJI=dziils usAHE & JIZHAE
22 2 689, 143,000 » 14 689, 143
401 AIEHIX R0 20,000 200,000 /180,000
01 A28l 20,000 200,000 180,000
OJ|=d8alis s & S22 Al
22 FNE=> 20,000,000 *14! 20,000
JISHEHHES &AL 60,000 60,000 0
307 212+01& 60,000 60,000
04 QIZHHAIAIH E X 60,000 60,000
OXTe & g JISZ2AeAl
60,000,000 * 14 60,000
HIAHHRE AIHE 240tA Jd 2488 X 26,000 26,000 0
Jl 13,000
Al 13,000
307 gl2to| & 26,000 26,000 0
Jl 13,000
Al 13,000
02 QB AANEER 26,000 26,000 0
OBIMHEZ AHHE 2&0tA X ALZE
A& 26,000,000 * 14! 26,000
7l 13,000
Al 13,000
BAZOIEXN 23 234,300 41,000 193,300
Jl 67,150
Al 67,150
= 100,000
301 LEIE NS 234,300 41,000 193,300
Il 67,150
Al 67,150
= 100,000
4 JIE2 8= 234,300 41,000 193,300
OBAZQIET QIHEE
234,300,000 x14] 234,300
Jl 67,150
Al 67,150
= 100,000




2A:
X XH -
o e

=aak

JIZ 0L Xl 2

ISHSHS =ML

oo
JIZHSHS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NSAH SHAZOIEN 29 22,000 1,160 20,840
Jl 11,000
Al 11,000
301 EtE N = 22,000 1,160 20,840
) 11,000
Al 11,000
14 0Bt 243 22,000 1,160 20,840
OXSIt S$AZRIERN QIMEIZ
22,000,000 *14! 22,000
Jl 11,000
Al 11,000
Jl=dst HAAS - XY XS 200,000 160,000 40,000
Il 100,000
Al 100,000
401 AIZHIZL R0 200,000 160,000 40,000
Il 100,000
Al 100,000
01 AlZH| 200,000 160,000 40,000
OJl=d3t HAAS N&H
200,000,000 *14] 200,000
Il 100,000
Al 100,000
EASH ME AZtQIRHSEER) A& i 2,501,000 0 2,501,000
Il 1,250,000
Al 1,251,000
201 er23| 1,000 1,000
01 At2teltl 1,000 1,000
OHNIStA 8Ot SAIRIE HA=E
100,000 %10 1,000
401 AlZHIZ SO 2,500,000 0 2,500,000
Il 1,250,000
Al 1,250,000
01 Al&HI 2,500,000 0 2,500,000
OEASE M8 eZet 2E0IZHsEE
2) Al&H 2,500,000,000& *14] 2,500,000
Il 1,250,000
Al 1,250,000
BASEAAME 28 N2 202,000 0 202,000
Jl 100,000
Al 102,000
201 ger=3| 2,000 2,000
01 At 2|l 2,000 2,000
OHMIStA BOF SAIRIE &A=&
100,000 x10E <22} 2,000




A IS0 XD
M JIRHSINE =sMEE
&2l JIFHIHS EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 200,000 0 200,000
| 100,000
Al 100,000
02 QIZHBAAIE E X 200,000 0 200,000
OEAEYN MUY 29 X8
200,000,000& * 14! 200,000
| 100,000
Al 100,000
EASE - sMEY JI2HE =8 101,000 0 101,000
| 70,000
Al 31,000
201 L2 AH| 1,000 1,000
01 AtR2telt] 1,000 1,000
OMCtM EIot AARIE AAY
100,000 10X 1,000
207 AR Y| 100,000 0 100,000
| 70,000
Al 30,000
NEEEET] 100,000 0 100,000
OBAZY - SMET J12HE 48
100,000, 000& * 14 100,000
| 70,000
Al 30,000
HIsLET Al A 174,647 137,665 36,982
NHsgd 2 =& 31,630 6,400 25,230
201 B2 AY| 8,750 4,000 4,750
01 At=R2teld| 8,750 4,000 4,750
OXSINSLASAAS| HaLL
70,0002 x25H 53] 8,750
202 0441 2,880 2,400 480
01 =UHoi bl 2,880 2,400 480
OXZIHsLd ez ol
240,000& =128 2,880
207 AR LI 20,000 20,000
01 eipg | 20,000 20,000
ONSIHSLH J|2ae 28 cpgdy|
20,000,000 14| 20,000
NEHotsed 2 - 2 &858 143,017 131,265 11,752
201 B2 AL 3,500 3,500 0
02 S=29| 3,500 3,500 0
OXIEIIsSEs 28 MAXLEL(0I220]
) 93| 3,500,000& * 14 3,500
307 212+01 A 139,517 127,765 11,752
02 QIZHAAAIEER 44,000 44,000 0




SA: JIZ0H X 2

Hu: J|SHSS =M

el NSIsEETAl AE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNZoN21 AEAIY =&
44,000,000 *14] 44,000
03 2RI HEE2SHIE X 95,517 83,765 1,752
OFFNHINsEHE S 28|
95,517,000 * 14! 95,517
toeg 2 33,231,201 69,361,479 N\36,130,278
= 18,905,900
< 4,243,465
Al 10,081,836
F¥agd 28 2,506,019 1,897,118 608,901
= 1,230,750
s 288,240
Al 987,029
WIILSEE g N 34,348 45,160 /10,812
201 =3 29,028 32,440 A3,412
01 At22t2lt] 11,800 11,900 A100
OUIIHEYA NBRA 242
220,000& *452] 9,900
OUIIH=g A ASHHE A28 7
1,900,000 *14] 1,900
02 S3=gHl 17,228 20,540 A3,312
Otdg dIHTEN & L LBRS
2,1003+02 122 2,268
OoHJIeY daExelE sHdsRs
50,0002 ~2CH* 12 1,200
OAHZLIHE &bl S4e3
35,0008 *3CH* 12 1,260
Ol - 258 - &5 53| FAl2clbl
12,500,000 * 14 12,500
202 04| 4,320 6,720 A2,400
01 SLHoIH 4,320 6,720 N2,400
Oolo|2el ge=8 ol
360,000& * 122 4,320
301 LEtE N = 1,000 1,000
14 DBt 2 a3 1,000 1,000
OstdEde Ml Zys
1,000,000 *14] 1,000
A8 ARHE T2 SXAIE ZX K& 1,800,000 1,489,500 310,500
= 1,000,000
S 240,000
Al 560,000
402 2I2F X201 & 1,800,000 1,489,500 310,500
= 1,000,000
= 240,000
Al 560,000




SA: JIZ0H X 2
M HIeg 2

el 3¥aE 28 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 1,800,000 1,489,500 310,500
OARD ARIE UDI2E SXAIE &% X
el 81,818, 180& »22CH 1,800,000
= 1,000,000
< 240,000
Al 560,000
IHEE NsARE2Y B 300,000 300,000 0
= 180,000
[ 36,000
Al 84,000
402 QIF X201 & 300,000 300,000 0
= 180,000
== 36,000
Al 84,000
02 2IIHE AN 2 X (0IH TR 300,000 300,000 0
ONEB H=A2Y 22
100,0002 %3, 000CH 300,000
= 180,000
s 36,000
Al 84,000
B2 s3XE 20,000 9,500 10,500
& 6,000
Al 14,000
201 er23 | 20,000 9,500 10,500
= 6,000
Al 14,000
01 AtR22te|Hl 20,000 9,500 10,500
OFSAS OISAIE dUsIIE SZXE
500,000 *40H 2= 20,000
=S 6,000
Al 14,000
Fes etB3gZa o 20,800 0 20,800
< 6,240
Al 14,560
401 Al HIZL 01| 20,800 0 20,800
= 6,240
Al 14,560
01 Al&H| 20,800 0 20,800
OF s etdgZe oy
1,300,000 * 169K 2 20,800
=S 6,240
Al 14,560
SStEd 2l 6,400 0 6,400
206 M=l 6,400 0 6,400




2A:

JIZ 0L Xl 2

M (01LE 22|
el H¥ed 24 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
01 =Yl 6,400 0 6,400
OFE HIFSAH(IotE L 8r2tE) 2
8,000 x800kg 6,400
NASHD HIEX 2IAA 91,350 0 91,350
= 50,750
Al 40,600
402 QI+ Rt=01H 91,350 0 91,350
= 50,750
Al 40,600
02 QIZEXHE2 A 2 ZZ (01 THE) 91,350 0 91,350
OJIAEHEHI HiE0tA MEEX| 2K
3,150, 000& »29CH 91,350
= 50,750
Al 40,600
=As FoIOjol 24 233,121 52,958 180,163
101 124d| 131,951 20,228 111,723
M IIZINZ2 2 NS Es 131,951 20,228 111,723
O=4A3 =UIlol 24t 131,951
>ol23 2,305,270 x 10 +5& 115,264
> AT =Y 11,0303 *8A| 2H+ 102 x4 3,530
>=0AZIREZ 118,794,000 *4 . 5% 5,346
DHABEZ 118,794,000 x3.495% 4,152
DEIRLYEEZ 4,152,000 %12.27% 510
>NESBEZ 118,794,000 *1.75% 2,079
DANEEZ 118,794,000 0. % 1,070
201 B2 AY| 96,850 30,150 66,700
01 At=22teld| 8,650 5,650 3,000
O=ZA8 =IOt 24 34|
4,000,000& * 14! 4,000
O & 1,500,000 *14! 1,500
OXGaoA A FFNE
70,0003 *9H x53| 3,150
02 3324l 88,200 24,500 63,700
O243 NS S L AHEX WL
2,100 *21,000F *23| 88,200
202 O4H| 4,320 4,320
01 =204 4,320 4,320
OZAS FOIEH HAAD ZF0H|
360,000& =12 4,320
OIMISX S 30,725,182 67,464,361 A36,739,179
= 17,675,150
T 3,955,225
Al 9,094,807
HWIEs3Y 29 144,000 158,400 A14,400




SA IO 2
FH: PIeg 22
2l DINEX TS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 43,200
Al 100,800
201 er23| 144,000 158,400 14,400
= 43,200
Al 100,800
2 s5=34l 144,000 158,400 14,400
OUILYEFY |x2
36,000,000 *4IH 2 144,000
=S 43,200
Al 100,800
OIMZHAl M 149,082 158,416 9,334
201 2= 143,322 151,696 A8,374
01 At22t2ltl 116,050 126,500 210,450
O0IMEZX 2= M=
6,000,000 *14] 6,000
OBHZItA ADXIZHOHS) A 222
30,0002 *50CH 1,500
O=2ERANSA ZIHA S
15,300& %2, 000CH 30,600
OLSHSNEX ZIIHT OIS L)
850 *7,0004 5,950
Od==Xteg gtz 600, 0002 *4CH*302] 72,000
02 S3=gHl 27,272 25,196 2,076
OSEUHIBZE 332=
810,000& * 122 9,720
ONINIEXl et elE 332
300,000& * 122 3,600
OoJIeE das 532
200, 000%*12% 2,400
O0IMgX S2(HHg) L& <fH
2, 10004*2607**125 6,552
OO QHaIRIE S22
2,000,000& *14] 2,000
OSEUHSBZE |22
3,000,000& %14 3,000
202 04| 5,760 6,720 A960
01 2K 5,760 6,720 A960
OOIMZHXI2te| HRFE ol
480,000 123 5,760
OIAIZHA BIE3 AL & ZAIXEH 570,000 533,000 37,000
= 285,000
== 85,500
Al 199,500
101 e124d| 460,000 433,000 27,000
= 230,000
= 69,000




2A:

E M

X=]

JIZ 0L Xl 2
o128 2l

o OIMIEX T

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 161,000
04 JIZtNZ22 XS 2+ 460,000 433,000 27,000
OO0IMEX HiE 2AI& 22 (19%)
460,000,000 *14] 460,000
= 230,000
= 69,000
Al 161,000
201 fer= 3| 110,000 100,000 10,000
= 55,000
= 16,500
Al 38,500
01 AtR2t2|HI 94,000 90,000 4,000
ODIKIBIX BHER LAIXY 22
94,000,000 *14! 94,000
= 47,000
= 14,100
Al 32,900
02 324l 16,000 10,000 6,000
OOIMZHAI BiEE ZAIXE FFU
16,000,000 * 14! 16,000
= 8,000
= 2,400
Al 5,600
IS 25 17,465,800 31,883,560 N14,417,760
= 10,609,000
= 2,050,700
Al 4,806,100
402 2I2FX=01 & 17,419,000 31,831,560 14,412,560
= 10,580,000
= 2,045,700
Al 4,793,300
02 QI 2 AL E X (0IETHR) 17,419,000 31,831,560 N14,412,560
ORIINSH TAXA(SS)
8,600, 0002 =980CH 8,428,000
= 4,900,000
= 980,000
Al 2,548,000
OTMIIX=at LKA (32, AH)
21,000,000 +347CH 7,287,000
= 4,858,000
= 694,000
Al 1,735,000
OIS At RAUXA (2, =4E)
13,000,000 *102CH 1,326,000
= 612,000




2A:
X XH -
o e

=aak

JIZ 0L Xl 2
o128 2l
OIMIEX TS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 321,300
Al 392,700
OFIINER PUXIA(SE)
126,000, 0002 *3CH 378,000
= 210,000
S 50,400
Al 117,600
405 KHaHF S| 46,800 52,000 A5,200
= 29,000
& 5,000
Al 12,800
01 It =S F = 46,800 52,000 A5,200
OFIINER BEXZ TANA(SE)
8,600,000 3CH 25,800
= 15,000
< 3,000
Al 7,800
OFIINER BEXY PUXA(SS, 48)
21,000,000 = 1CH 21,000
= 14,000
= 2,000
Al 5,000
HII0IEX 25 218,400 149,310 69,090
= 104,000
& 41,600
Al 72,800
402 QI”F X201 & 218,400 149,310 69,090
= 104,000
< 41,600
Al 72,800
02 QI TH2AILEE (01X THE) 218,400 149,310 69,090
O&II0IEXRt FOHXIZ
1,680,000 *130CH 218,400
= 104,000
== 41,600
Al 72,800
=ATIINSE 25 3,450,000 10,650,000 AT7,200,000
= 2,250,000
== 480,000
Al 720,000
402 2I2FX=201H 3,450,000 10,650,000 A7,200,000
= 2,250,000
= 480,000
Al 720,000




2A:

E M

JIZ 0L Xl 2
o128 2l

2l DINEX TS EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
02 QI X2 AL EE(OIETHE) 3,450,000 10,650,000 A7,200,000
O=28J|INSAH 20K
34,500,000 = 100CH 3,450,000
= 2,250,000
< 480,000
Al 720,000
23012 WEX ds7i2el 4,200 375 3,82
= 2,100
< 630
Al 1,470
402 QIF X201 & 4,200 0 4,200
= 2,100
== 630
Al 1,470
02 BIINEASEZ(0IETHR) 4,200 0 4,200
ONIRZET 2512 E D Asanize
150,000 +28CH 4,200
= 2,100
s 630
Al 1,470
SHAF[ BHISOtA M2 8,463,700 23,470,300 /15,006,600
= 4,355,050
=S 1,232,595
Al 2,876,055
402 2I2F X201 & 8,463,700 23,470,300 /15,006,600
= 4,355,050
= 1,232,595
Al 2,876,095
02 RIENZASEZ (01 THR) 8,463,700 23,470,300 /15,006,600
O=2A9x FIIHI X2
5,818,000,000& *14] 5,818,000
= 2,909,000
= 872,700
Al 2,036,300
OER XSt HEMBEX EXIXE
3,300,000 379CH 1,250,700
= 625,350
= 187,605
Al 437,745
OPM - NoxSAI MZ&E X &XIXI&
15,000,000 *3CH 45,000
= 22,500
= 6,750
Al 15,750




2A:
X XH -
o e

=aak

JIZ 0L Xl 2
o128 2l
OIMIEX TS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAEIIA WM EX EXIXH
11,000,000 1CH 11,000
= 6,600
[ 1,320
Al 3,080
OAEIH AMTWH K&
16,500,000 *74CH 1,221,000
= 732,600
< 146,520
Al 341,880
OLPGetE Xt AIXtY K&
1,000,000 *118CH 118,000
= 59,000
S 17,700
Al 41,300
Oielol Sstxte LPaxt A2t A3 140,000 245,000 105,000
= 70,000
S 21,000
Al 49,000
402 QI”F X201 & 140,000 245,000 A105,000
= 70,000
< 21,000
Al 49,000
02 QI TH2AILEE (01X THE) 140,000 245,000 105,000
OO0{el0l SStRte LPaRt Met X
7,000,000 +20CH 140,000
= 70,000
== 21,000
Al 49,000
FASHEAL 2EXE 120,000 120,000
308 XXM SO0l 120,000 120,000
11 SIS0t 4 A AS A 120,000 120,000
O=AF8A 2N
10,000,000& * 174 A% 122 120,000
OIUX otd=g & ATHA0IH AT O 2,826,455 4,629,806 21,808,351
= 5,625
Jl 936,740
= 414,660
Al 1,469,430
U= DNRRIFSI== 759,062 1,153,756 A394,694
= 5,625
< 164,314
Al 589,123
ORI etd 2te] 4,320 5,040 AT20




2A:
X XH -
o e

=aak

prnl
(U1 PARRUIFSEEE

= ATHAOIUH X O

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 4,320 5,040 AT20
01 2LHoIH 4,320 5,040 AT20
OOIUAl 2te| 2=
360,000 x 12 4,320
NASE == JdIIAME e 5,325 8,876 A\3,551
=S 1,597
Al 3,728
403 AXIEHHSAH=201H 5,325 8,876 A3,551
< 1,597
Al 3,728
02 S 2SS0t et =& 2 EF A I 5,325 8,876 23,551
OMaSE == HIIAEHA
5,325,000 * 14 5,325
= 1,597
Al 3,728
SADA BESXE 532,767 1,400 531,367
=S 159,410
Al 373,357
201 et 3| 1,400 1,400
01 AtR2te|Hl 1,400 1,400
OUATIRIRS! &g
70,0002 102 *23] 1,400
402 QI”F X201 & 531,367 0 531,367
= 159,410
Al 371,957
02 QI A2 AL E R (0IHTHEA) 531,367 0 531,367
OH=SFEXSA TADA 2SN
531,366,830 * 14 531,367
=S 159,410
Al 371,957
LPGEII AFEIt Al JHe 11,250 4,000 7,250
= 5,625
= 1,687
Al 3,938
403 AXIEHHSAH=01d 11,250 4,000 7,250
= 5,625
= 1,687
Al 3,938
02 SISOt =2 A P E A I 11,250 4,000 7,250
OLPGEI| AEIt+ AIE e
11,250,000 * 14! 11,250
= 5,625
= 1,687
Al 3,938




SA: JIZ0H X 2
= X &

32 ¥ AMTHAOIL X i
e N [EpNFSEE =

(crel &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FHAANES DS A RED] X 5,400 3,900 1,500
= 1,620
Al 3,780
403 MR HHMSAHE01H 5,400 3,900 1,500
= 1,620
Al 3,780
02 ST 2SO St =2 A P E A I 5,400 3,900 1,500
OMASE DXL JHAHEIE D[ (ELO]
M=) 23 5,400,000 * 14 5,400
== 1,620
Al 3,780
sZ0I2 LGS MEYT 22 200,000 0 200,000
402 QI”F X201 & 200,000 0 200,000
01 QIZEXHE2 AL 2 (KM ) 200,000 0 200,000
Os&02 (PAENEHT 25
200,000,000 » 14 200,000
HUX E=H0I8 96,638 108,463 211,825
OIHXI 22f =& 15,000 15,000 0
201 fer= 3| 3,000 3,000 0
01 At 2|l 3,000 3,000 0
OulHXIZe! 222 HM&
1,500,000 22 3,000
207 ARl 12,000 12,000
01 H1E4H] 12,000 12,000
O33%2 UKl s=2clM 8
12,000,000%*15! 12,000
NN ESAE X 43,200 43,200 0
201 er23| 43,200 43,200
02 S3=gHl 43,200 43,200
OESCO &&= (LED Jt=2S 1WH)
3,600,000& ~12& 43,200
fcld HAIINSE AL 38,438 41,963 A3,525
403 THXI M SAH=01H 38,438 41,963 A3,525
02 SIS0t =S A A 38,438 41,963 N\3,525
2|8 HIIN=S At
38,437,500& x 14 38,438
AU 25 1,945,755 3,342,587 1,396,832
) 936,740
& 250,346
Al 758,669
AT B2 7,460 6.720 740
201 er23| 1,700 0 1,700
01 At2teltl 1,700 0 1,700




SA: JIZ0H X 2
M UK etdEss ¢
Rl AIHEUUEX 22

= ATHAOIUH X O

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMTHHOILX 22 822 M
1,000,000 14] 1,000
OATHMONILT B=EXIRARY 22 B9
=g 100,000 7 & x13] 700
202 04| 5,760 6,720 A960
01 =LHOLI 5,760 6,720 A960
OATHHOIU X HR=E O
480,000 123 5,760
AITHAOI X FEXIR (S EXIH) 385,750 534,200 148,450
= 115,725
Al 270,025
402 I2FX=01 & 385,750 534,200 148,450
= 115,725
Al 270,025
02 RIENZASEZ(0IETHR) 385,750 534,200 148,450
O-ITHHOIL X F=EXIH
385,750,000 *14] 385,750
& 115,725
Al 270,025
ATHAOIU X 218 o 37,600 0 37,600
Jl 18,800
Al 18,800
401 A& HIX R0 37,600 0 37,600
) 18,800
Al 18,800
01 A28l 37,600 0 37,600
OATHAOILATI STHI I8 F4
37,600,000 * 14! 37,600
Jl 18,800
Al 18,800
AU X SR 1,297,085 2,605,407 1,308,322
Jl 799,240
== 115,221
Al 382,624
401 AlEHIZL SO 40,260 8,901 31,359
Jl 18,920
Al 21,340
01 Al&H| 40,260 8,901 31,359
O UK E=SHXE
40,260,000 * 14 40,260
Il 18,920
Al 21,340
402 2I2F X201 & 1,256,825 2,5%,506 1,339,681
Il 780,320




2A:
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=aak

JIZ 0l X 2
OIUX etd8s E AT X i
STHANHK 25

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 115,221
Al 361,284
02 QI X2 AL EE(0IETHE) 1,256,825 2,596,506 21,339,681
O UK E=SHRE
1,256,825,000& » 14 1,256,825
Il 780,320
< 115,221
Al 361,284
FAHES XIS XA 216,600 195,000 21,600
Jl 118,700
[ 19,400
Al 78,500
401 AlEHIZL S0 216,600 195,000 21,600
Il 118,700
== 19,400
Al 78,500
01 Al&HI 216,600 195,000 21,600
OFHAAE X=X AE
216,600,000 x14] 216,600
Il 118,700
s 19,400
Al 78,500
gEAFHIS XS 1,260 1,260
201 2egh=3| 1,260 1,260
01 At2t2ltl 1,260 1,260
OgdAFHISNE) IS 28 &2?2?
EEESEaS 70,0002 x62H+33] 1,260
ATHA0IL KT OHE 25,000 25,000 0
AITHAONU X JRE 25,000 25,000 0
307 gl2to| & 25,000 25,000 0
05 212t =S 25,000 25,000 0
O3F0UXDI=dH 29
25,000,000 * 14! 25,000
AH2IZHIOI=0H XD 147,648 113,625 34,023
A2 (IIZHHXID) 82,062 70,833 1,229
oI (1= 0IHXI D) 82,062 70,833 1,229
101 @124H| 82,062 70,833 11,229
01 &2 80,136 68,998 11,138
OAZtel2R4y
11,1302 24 x300A1 2+ 80,136
03 SR (RIH )22 U2+ 1,926 1,835 AN
ogg=zz2=+g 1,926
RENEEIEEN)
16,0503 * 12+ 120A1 2t 1,926
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1= 0l LA KT 2t

HH2SZHI(OI=Z0IH X )

J1=23HI(21Z 0 X2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
J12ZHI(O1Z LX) 65,586 42,792 22,794
J1=2ZHI (12U X 65,586 42,792 22,794
201 er23| 37,686 25,572 12,114
01 At2teltl 32,124 20,340 11,784
ORAMEE AtR22ll]
32,124,000 x 14 32,124
02 S3=4gHl 5,562 5,232 330
ORAN2Y s5=29Hl
5,562,000 * 14 5,562
202 04l 13,080 9,720 3,360
01 2LHoIH 13,080 9,720 3,360
OJl=g =80 840,000 122 10,080
OJIZEsS BR=N 22101
3,000,000& %14 3,000
203 =4l 8,100 7,500 600
01 J122geRF=a| 3,300 3,300 0
osE=& 3,300,000& x1H 3,300
M EASHLRFAH 4,800 4,200 600
O30& Olst 400,000 <123 4,800
405 AHatE S 6.720 6.720
01 ML ESFSHI 6,720 6,720
OJHHIR 242,000 % 10H 2,420
OPC(2X) (12 X) 1,000, 0002 4LH 4,000
OFEAII(H) 300,000 *1CH 300




